PROTECTA Il

28

Pole Mounting BracKet Assembly Cat No. SPOL4-100001/100002/100003

. ' | A 20
e | B M_..|
N e L
Ef"» ;}I ‘ | |'\- (5]
7 | O\ zp o
' e = ol
AQ =i il_ : £z
\‘\\}31 ; L = . == é; ——
iy / . i ez | S i
M6 Full Nut s
M6 Spring Washer 8 e
M6 x 35mm Lg |
Pole mounting bracket to suit pole diameter Hex Head Screw /“‘ o
(38-42mm) SPOL4-100001 S
(48-52mm) SPOL4-100002 Hex Head Screw

(568-62mm) SPOL4-100003

PART DETAILS
Part Code Part Description A B C
SPOL4-100001 | PROTECTA 38-42 P/M ASSY | B0mm 66mm 26mm
SPOL4-100002 | PROTECTA 48-52 P/M ASSY | 90mm 76mm 32mm

SPOL4-100003 | PROTECTA 58-62 P/M ASSY | _96mm 80mm 38mm

HooK Type Ceiling Bracket Assemobly Cat No. SPRO4-0005
30

€ i i

40
o B

S
(6)]
o g
M8 set screw for
R4.5 slot attaching to body
— e — L —)
Ceiling Mounting BracKet Assembly Cat No. SPRO4-0002
: 270
\ L 240 -
gt L\ }J/
) ? L
[ o B |
&¥ (P‘\ ‘ Q | ®
T N oiles 011 \Hole 8.25
Euelet Mounting Assemoly Cat No. SPROS-000S
36.0 10.5
@, 20.0 8.0




MOUNTING OPTIONS

29

Flush Mounting Wall BracKket Assembly Cat No. SPRO4-0006

\gt - — !f : ‘ M8 set screw for | _ |
!- = 4 - S/ attaching to body | |
1 I )S//' o
2lgl
(aV]
ISR 2 Holes @13 -
L AN \\,
Note: All brackets are made from 316 Stainless Steel |

Wall Mounting Outreach BracKet . NPRO4-0007/0008/0012

Il
I

4 Holes @14 \ s N
\O ‘ © Pole length ‘A" for use with the following:
IS 8 1. 18W and 36W spigot entry body, size ‘A" = 250mm
N S Cat No. NPRO4-0007
© 9 2. 18W body c/w pole clamps (SPOL4-100001), size ‘A" = 650mm
Cat No. NPRO4-0008
L] L]
80 76 3. 36W body c/w pole clamps, (SPOL4-100001) size ‘A" = 1100mm
Cat No. NPRO4-0012
120 Pole clamps for items 2 & 3 must be ordered separately,

see SPOL4-100001

18W Spigot Entry Cat No. PRGE/218/BI/SE

Opening for pole mounting Screws for
and for cable entry - 36-44mm 145 Max. - locating pole
1 Cable Gland

e
! ._#;';.. 5 |

T = JijL
i

742

36W Spigot Entry Cat No. PRGE/236/BI/SE

OPENING FOR POLE MOUNTING (MAX - P—————
42MM DIA) AND CABLE ENTRY.
\2)( M8 POLE FIXING HOLES = :
'.'I=
1352 k“
1382
1x M20 CABLE ENTRY —~

208

147 _|




